
ROCKING  CHAIR
Assembly Instructions - Thank you for your purchase.

Please follow the instructions below for correct assembly.

M6

www.spacegeneral.co.nz



PARTLIST
A 1

B 1

C 1

D 2

E 2

M8*20

102 4

103 2

104 2

105 1

M6*60

M6

M6*25

101 4

M6*20*2mm



03

01

04

C 1 01A 1 01C 2 02103C 1B

M6*25

101 4

M6

105 1

104 2

M6*60

D

A

B

M6

105 1

M6*20*2

103104

105

102 4 105 1

D 2 E 2

M8*20

E/L
E/L

E/R E/R

102

105

101

105

M6



C 1 05

Done

C



Awesome!
You did it!

We’d love to see how it looks in your
space—share your setup and tag us on

Visit us at www.spacegeneral.co.nz.

Instagram @spacegeneralnz


